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FHXH AL 391,829 379,729 12,100
= 6,278 6,278 0
2 385,551 373,451 12,100
SRSESEEESS 82,757 75,157 7,600
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403 TtXI S S A =01A 50,000 50,000 0
Xl 35,000 35,000 0
< 4,000 4,500 A 500
s 11,000 10,500 500
02 I 2S0ICHet A =X OH & Ar H 50,000 50,000 0
OXNS AL tALY 50,000 50,000 0
Xl 35,000 35,000 0
= 4,000 4,500 A 500
i 11,000 10,500 500
OrS &2l XM AL 90,000 40,000 50,000
402 212t Xt=01 & 90,000 40,000 50,000
01 2= AEEX 90,000 40,000 50,000
OLBSAAHEMNLY A7 HAHAS
10,000,000 «5J4 2 50,000 0 50,000
OrSd9 & xEd 59,000 29,000 30,000
= 14,500 14,500 0
=) 4,350 4,350 0
= 40,150 10,150 30,000
307 21201 & 59,000 29,000 30,000
= 14,500 14,500 0
S 4,350 4,350 0
T 40,150 10,150 30,000
02 HAHFHUANEEE 59,000 29,000 30,000
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